

## Lecture 26: notes

Monday, July 29, 2019 1:54 PM

Today we would like to develop more tools for computing Taylor series.

Ex 1. Compute the Taylor series of the function,  $f(x) = e^x + \frac{1}{(1-x)^2}$  about  $x=0$ .

Consider the Taylor series of each piece,

$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}$$

$$\frac{1}{1-x} = \sum_{n=0}^{\infty} x^n$$

↓ take the derivative

$$\frac{1}{(1-x)^2} = \sum_{n=1}^{\infty} n x^{n-1}$$

$$= \sum_{n=0}^{\infty} (n+1) x^n$$

Now let's add the two,

$$e^x + \frac{1}{(1-x)^2} = \sum_{n=0}^{\infty} \frac{x^n}{n!} + \sum_{n=0}^{\infty} (n+1) x^n$$

$$= \sum_{n=0}^{\infty} \left( \frac{1}{n!} + n+1 \right) x^n$$

$$= \sum_{n=0}^{\infty} \frac{1+(n+1)!}{n!} x^n$$

← either is okay.

When adding together Taylor series add the coefficients on the same powers of  $x$ .

Ex2. Compute the Taylor series about  $x=0$  of the function  $f(x) = \frac{2-x^2}{1+x}$ .

$$\begin{aligned}
 f(x) &= \frac{2-x^2}{1+x} \\
 &= \frac{2}{1+x} - \frac{x^2}{1+x} \quad \text{find the Taylor series of these.} \\
 &= 2 \cdot \sum_{n=0}^{\infty} (-x)^n - x^2 \cdot \sum_{n=0}^{\infty} (-x)^n \\
 &= \sum_{n=0}^{\infty} 2 \cdot (-1)^n x^n - \sum_{n=0}^{\infty} (-1)^n x^{n+2} \\
 &= 2 - 2x + 2x^2 - 2x^3 + \dots + x^2 - x^3 + \dots \\
 &= 2 - 2x + \underbrace{3x^2 - 3x^3 + \dots}_{\text{all the rest of the coefficients are 3.}}
 \end{aligned}$$

$$\frac{2-x^2}{1+x} = \sum_{n=0}^{\infty} (-1)^n b_n x^n, \quad b_n = \begin{cases} 2 & \text{if } n \leq 1 \\ 3 & \text{if } n \geq 2 \end{cases}$$

We can also multiply and divide Taylor series like we multiply and divide polynomials.

Ex3. Compute the first 4 terms of the Taylor series for  $f(x) = e^x \cdot \frac{1}{1-x}$ .

$$\begin{aligned}
 e^x \cdot \frac{1}{1-x} &= \left( \sum_{n=0}^{\infty} \frac{x^n}{n!} \right) \cdot \left( \sum_{n=0}^{\infty} x^n \right) \\
 &= \left( 1 + x + \frac{x^2}{2} + \frac{x^3}{6} + \dots \right) \cdot \left( 1 + x + x^2 + x^3 + \dots \right)
 \end{aligned}$$

←  $x^2$  terms  
← constant terms     ←  $x^1$  terms



$$e^x = \sum_{n=0}^{\infty} \frac{x^n}{n!}, \quad \log(1+x) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^n}{n}$$

two more terms  
what you need.

$$e^x \cdot \log(1+x) = \left(1+x+\frac{x^2}{2}+\frac{x^3}{6}+\dots\right) \cdot \left(x-\frac{x^2}{2}+\frac{x^3}{3}+\dots\right)$$

$$= \underbrace{1 \cdot x}_{x \text{ term}} + \underbrace{x \cdot x + 1 \cdot \left(-\frac{x^2}{2}\right)}_{x^2 \text{ term}} + \underbrace{1 \cdot \left(\frac{x^3}{3}\right) + x \cdot \left(-\frac{x^2}{2}\right) + x \cdot \left(\frac{x^2}{2}\right)}_{x^3 \text{ term}} + \dots$$

$$= x + \left(1 - \frac{1}{2}\right)x^2 + \left(\frac{1}{3} - \frac{1}{2} + \frac{1}{2}\right)x^3 + \dots$$

$$= x + \frac{1}{2}x^2 + \frac{1}{3}x^3 + \dots$$

Ex 6. Compute the first 3 terms of the Maclaurin series of  $f(x) = \frac{e^x}{1+x^2}$ .

$$\begin{array}{r} \boxed{1+x-\frac{1}{2}x^2} \\ 1+0x+x^2 \overline{) 1+x+\frac{1}{2}x^2+\frac{1}{6}x^3+\dots} \\ \underline{-(1+0x+x^2)} \phantom{+\frac{1}{6}x^3+\dots} \\ x - \frac{1}{2}x^2 + \frac{1}{6}x^3 \\ \underline{-(x+0x^2+x^3)} \\ -\frac{1}{2}x^2 - \frac{5}{6}x^3 + \dots \end{array}$$

order from smallest power to largest.